

q forme quadratique

$$\phi(x, y) = \frac{1}{2} [q(x+y) - q(x) - q(y)] \quad \text{alors } \phi \text{ est un}$$

pb, little $\phi(x, x) = q(x)$

$$\phi(x, x) = \frac{1}{2} [q(2x) - 2q(x)] = q(x)$$

" " " " " "
4 $q(x)$

$$\phi(y, x) = \phi(x, y)$$

On peut à l'encontre matricielle (ou fixe une base)

$$q(x) = {}^t x A x$$

$$\phi(x, y) = \frac{1}{2} [{}^t(x+y) A (x+y) - {}^t x A x - {}^t y A y]$$

$$\phi(x, y) = \frac{1}{2} [{}^t x A x + {}^t x A y + {}^t y A x + {}^t y A y - {}^t x A x - {}^t y A y]$$

mais ${}^t y A x$ est une matrice 1×1

$$\text{donc } {}^t Y A X = {}^t ({}^t Y A X) = {}^t X {}^t A Y$$

$$\text{d'où } \phi(x, y) = {}^t x \left[\frac{1}{2} (A + {}^t A) \right] y \quad \underline{b}$$

↑
matrice symétrique

Expression algébrique

$$E = \mathbb{R}^3 \quad q(x) = x_1^2 - 2x_2 x_3 + x_3^2$$

$$\text{, us } \phi(x, y) = x_1 y_1 - x_2 y_3 - x_3 y_2 + x_3 y_3$$

$$a x_i^2 \rightarrow a x_i y_i$$

$$a x_i x_j \rightarrow \frac{1}{2} a x_i y_j + \frac{1}{2} a x_j y_i$$

$i \neq j$